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Section A (12 x 2 marks)
There are 12 questions in this section. Read the questions carefully.

Answer all the questions.

1. Match each picture with the correct answers.

3 groups of 4

3 groups of 3

4 groups of 3.




2. Fill in the box with the correct answer.

6xb= +5+5+5+5+5H

3. Write a multiplication equation for the picture below to find out
the total number of balloons.
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4. Circle the cupcakes into groups of 7.

There are groups of 7.




5. Draw 15 pineapple slices equally on 3 pizzas.
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There are pineapple slices on each pizza.

6. Siti has 18 ice cream sticks.
~ _She uses 6 sticks to make a picture of a house.
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She can make pictures of houses using all the ice cream
sticks. ‘




7. Miss Tan had 20 crayons altogether.
She put 10 crayons into each bag. How many bags did she use?

She used bags.

8.  Count and write the amount of money.




Kettle
$40

$85

{a) The

(b) The kettle costs

costs the most,

more than the pot.
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Study.the graph carefully. Use the graph-f'or quésfigris 10 a’ﬁd 11; _
This picture graph shows the favourite animals of the pupils 6f a class.

Our favourite animals

%
o)
B8
o
-+ R

@2%5@

Turtle
Each stands for 1‘ pupil.

- 10. There are types of animals in the picture graph.

1. | ‘pupils like rabbit and cat.




12. Study the graph carefully.

Number of leaves collected by 4 children

amad 1O OO OO OO0

Ben O O

Cindy O O OO O

Ql2b

Devi

Each O stands for 1 leaf.

{a) Ahmad collected leaves.

(b) Devi collected 2 fewer leaves than Cindy,
Draw the number of Jeaves ( O ) that Devi has in the graph.



SECTION B (4 x 4 mar'ks) | -

There are 4 questions in this section.

Read the questions carefully. Show all your workmgs clear'ly

Write your answer in the space provided.

13a) John has 3 bags.

There are 5 sweets in each bag.
How many sweets are there altogether?

There are

I

sweets alfogether.

b) He now puts the sweets equally into 5 bags.
Draw the sweets in each bag.

Each bag has

sweets.

Working
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14, The plcfure graph shows the number of pencils Alex Bqla

Caili and Devi have.

Number of pencils we have

Alex

Caili Devi

Each

" stands for 1 pencil.

Fill in the blanks.

a) Bala has pencils.

bi Alex has penéils

c) Devi has more peﬁcils Tha.n-Caili.

.d) | has the most number of pencils.

|~ Working



15, a) Ther-e are llboys and 6 g:r'ls in The classroom
- How many children are there in the classroom

aITogeTher?

il

o

There are children altogether.

b) How many more boys than girls are there?

fl

O

Thereare | © | more boys than giris.

10

. Working
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16. a) Sandra had 17 stickers, -
Tina had 5 fewer stickers than Sandra.
How many stickers did Tina have?

"ll

O

Tina has stickers.

b) Sandra gave 4 of her stickers away.
How many stickers did she have left?

I

O

She had stickers left.

End of paper
Have you checked your work?
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Answer Sheets
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1)

3 groups of 4

3 groups of 3 i

4 groups of 3.

2)5
3)8x2=16
4)

5)There are 5 pineapples slices on each pizza

6)18/6=3 she can make 3 pictures of houses using all the ice cream sticks.
7)She has 2 bags

8)75 cents

9a)The oven cost the most

9b)The kettle cost $10 more than the pot



10)There are 4 types of animals in the picture graph
11)9 pupils like rabbit and cat

12a)Ahmad collected 7 leaves

12b)

vei | OO O

Q12b

Section B

13a)3x5=15 There are 15 sweets altogether
13b)Each bag has 3 sweets.

14a)Bala has 3 pencils

14b)Alex has 5 pencils

14c)Devi has 5 more pencils than caili.
14d)Devi has the most number of pencils
15a)11+6=17

There are 17 children altogether
15b)11-6=5

There are 5 more boys than girls
16a)17-5=12

Tina has 12 stickers

16b)17-4=13

She had 13 sticks left.
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